This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 14 - Cambuslang East

4,736

3

1,185

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Walter BROGAN	Scottish Labour Party	1,553
Ellen BRYSON	Scottish Liberal Democrats	125
Gavin DOUGLAS	Scottish Conservative and Unionist	668
Alistair FULTON	Scottish National Party (SNP)	857
Stuart GALLACHER	Scottish Labour Party	134
Katy LOUDON	Scottish National Party (SNP)	1,123
Laura MARTIN	Scottish Green Party	147
James MOORE	Scottish Unionists Proudly Scottish Proudly British	129
	Total	4,736

Candidate Walter BROGAN Elected with 1,553 votes, being in excess of the quota of 1,185

This report contains the transfers results.

Stage 2 - Surplus of Walter BROGAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Walter BROGAN	0	0.00000	0.00000
Transfer to Ellen BRYSON	69	0.23696	16.35024
Transfer to Gavin DOUGLAS	92	0.23696	21.80032
Transfer to Alistair FULTON	79	0.23696	18.71984
Transfer to Stuart GALLACHER	1,031	0.23696	244.30576
Transfer to Katy LOUDON	69	0.23696	16.35024
Transfer to Laura MARTIN	33	0.23696	7.81968
Transfer to James MOORE	32	0.23696	7.58272
Value of non-transferable ballot papers			35.07120
	Total		368.00000

This report contains the transfers results.

Stage 3 - Exclusion of James MOORE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Walter BROGAN	0	0.00000	0.00000
Transfer to Ellen BRYSON	3	0.23696	0.71088
Transfer to Ellen BRYSON	8	1.00000	8.00000
Transfer to Gavin DOUGLAS	9	0.23696	2.13264
Transfer to Gavin DOUGLAS	70	1.00000	70.00000
Transfer to Alistair FULTON	3	1.00000	3.00000
Transfer to Stuart GALLACHER	11	0.23696	2.60656
Transfer to Stuart GALLACHER	13	1.00000	13.00000
Transfer to Katy LOUDON	6	1.00000	6.00000
Transfer to Laura MARTIN	2	0.23696	0.47392
Transfer to Laura MARTIN	7	1.00000	7.00000
Value of non-transferable ballot papers			23.65872
	Total		136.58272

This report contains the transfers results.

Stage 4 - Exclusion of Ellen BRYSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Walter BROGAN	0	0.00000	0.00000
Transfer to Gavin DOUGLAS	13	0.23696	3.08048
Transfer to Gavin DOUGLAS	27	1.00000	27.00000
Transfer to Alistair FULTON	9	0.23696	2.13264
Transfer to Alistair FULTON	15	1.00000	15.00000
Transfer to Stuart GALLACHER	27	0.23696	6.39792
Transfer to Stuart GALLACHER	27	1.00000	27.00000
Transfer to Katy LOUDON	2	0.23696	0.47392
Transfer to Katy LOUDON	8	1.00000	8.00000
Transfer to Laura MARTIN	9	0.23696	2.13264
Transfer to Laura MARTIN	35	1.00000	35.00000
Transfer to James MOORE	0	0.00000	0.00000
Value of non-transferable ballot papers			23.84352
	Total		150.06112

This report contains the transfers results.

Stage 5 - Exclusion of Laura MARTIN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Walter BROGAN	0	0.00000	0.00000
Transfer to Ellen BRYSON	0	0.00000	0.00000
Transfer to Gavin DOUGLAS	2	0.23696	0.47392
Transfer to Gavin DOUGLAS	18	1.00000	18.00000
Transfer to Alistair FULTON	5	0.23696	1.18480
Transfer to Alistair FULTON	26	1.00000	26.00000
Transfer to Stuart GALLACHER	14	0.23696	3.31744
Transfer to Stuart GALLACHER	21	1.00000	21.00000
Transfer to Katy LOUDON	3	0.23696	0.71088
Transfer to Katy LOUDON	70	1.00000	70.00000
Transfer to James MOORE	0	0.00000	0.00000
Value of non-transferable ballot papers			58.73920
	Total		199.42624

This report contains the transfers results.

Stage 6 - Surplus of Katy LOUDON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Walter BROGAN	0	0.00000	0.00000
Transfer to Ellen BRYSON	0	0.00000	0.00000
Transfer to Gavin DOUGLAS	2	0.00765	0.01530
Transfer to Gavin DOUGLAS	12	0.03228	0.38736
Transfer to Alistair FULTON	27	0.00765	0.20655
Transfer to Alistair FULTON	1,080	0.03228	34.86240
Transfer to Stuart GALLACHER	20	0.00765	0.15300
Transfer to Stuart GALLACHER	26	0.03228	0.83928
Transfer to Katy LOUDON	0	0.00000	0.00000
Transfer to Laura MARTIN	0	0.00000	0.00000
Transfer to James MOORE	0	0.00000	0.00000
Value of non-transferable ballot papers			3.07115
	Total		39.53504

This report contains the transfers results.

Stage 7 - Exclusion of Stuart GALLACHER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Walter BROGAN	0	0.00000	0.00000
Transfer to Ellen BRYSON	0	0.00000	0.00000
Transfer to Gavin DOUGLAS	3	0.03228	0.09684
Transfer to Gavin DOUGLAS	197	0.23696	46.68112
Transfer to Gavin DOUGLAS	44	1.00000	44.00000
Transfer to Alistair FULTON	11	0.00765	0.08415
Transfer to Alistair FULTON	12	0.03228	0.38736
Transfer to Alistair FULTON	139	0.23696	32.93744
Transfer to Alistair FULTON	27	1.00000	27.00000
Transfer to Katy LOUDON	0	0.00000	0.00000
Transfer to Laura MARTIN	0	0.00000	0.00000
Transfer to James MOORE	0	0.00000	0.00000
Value of non-transferable ballot papers			301.43305
	Total		452.61996

This report contains the transfers results.

Stage 8 - Exclusion of Gavin DOUGLAS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Walter BROGAN	0	0.00000	0.00000
Transfer to Ellen BRYSON	0	0.00000	0.00000
Transfer to Alistair FULTON	1	0.00765	0.00765
Transfer to Alistair FULTON	5	0.03228	0.16140
Transfer to Alistair FULTON	88	0.23696	20.85248
Transfer to Alistair FULTON	100	1.00000	100.00000
Transfer to Stuart GALLACHER	0	0.00000	0.00000
Transfer to Katy LOUDON	0	0.00000	0.00000
Transfer to Laura MARTIN	0	0.00000	0.00000
Transfer to James MOORE	0	0.00000	0.00000
Value of non-transferable ballot papers			780.64645
	Total		901.66798